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Strange Result 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Write down a three-digit number. The final digit 

must be smaller than the first digit.  

 

 

Reverse the digits to create a new number. 

 

 

Subtract this number from the original number.  

 

 

Reverse the result and add the last two numbers. 

 

What result do you get? 

 

Try to get a different result. 

 

Can you prove your suspicion? 

 

 

 

 

The height of the box will be 2cm and the length and 

widthwill be 14cm 


